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Note: Solution of all questions is required. Each question carries 01 marks.25x1=25

Q#1: Encircle the cormrect option:

10.

11.

12.

13.

—————————————————— would be a synonym of chastise..

(a)torequest (b) to punish

—————————————————— would be a synonym of velour.

(a)Great courage (b) great success

------------------ would be a synonym of defy.

(a)toresist (b)enemies

------------------ would be a synonym of sentiments.
(a)consult (b) opinion
------------------ would be a synonym of command.

(a)disorder (b) to request

.................. would be a synonym of blossom.
(a)forest (b) flower
.................. would be a synonym of festival.
(a)a time of celebration (b) a time of
sorrow
.................. would be a synonym of shalt.
(a)will (b) shall
.................. would be a synonym of momentum.
(a)developing (b) fast
.................. would be a synonym of influence.

(a)to grow (b) to effect

The group of correct form of verb "Bend 7is.

(a)Bend, Bent, Bent (b) Bend, Bend, Bent
Boy -------------- Fast. Choose correct form of verb.
(a)run (b)runs

He ---------- to school. choose correct form of verb.

(c) to defeat

(c) great feelings

(c)friend

(c) suggestions

(c) to order

(c) seeds

(c) a time of happiness

(c) have

(c)slow

(c) torequest

(c)Bent, Bent, Bent

(c)ran

bl L EBA LS S, ulf 15 S,
(MCQ’s)

(d) to order

(d) none of these

(d)relatives

(d) feelings

(d) none of these

(d) trees

(d) a time of sadness

(d) has

(d) none of these

(d)to order

(d)All options are incorrect

(d)running

1 Q)M[%JS)HU)‘M‘%



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

(a)go (b)gone (c)went
The group of correct form of verb “write ”is.
(a)write, write, written (b) write, wrote, (c) write, wrote, wrote
written
They -------- in field, choose correct form of verb.
(a)work (b)working (c)works
How many parts of speech are there?
(a)9 (b)7 (c)5
----------- is the name of a person, place, thing, idea or feeling.
(a) verb (b)adverb (c)pronoun
Umar will go to market, underlined word is called:
(a) noun (b)pronoun (c)article
A word used to describe an action, state or occurrence is called:
(a) noun (b)adjective (c)verb
He helped me happily ,here -------—----cccmmmmmeuunn is called adverb:
(a) helped (b)happily (c)he
He obeys his teacher? In this sentence "He" is called:
(a) noun (b)pronoun (c)verb
He is a good boy, underlined word is a/an
(a) adjective (b) noun (c)verb
She is a lazy girls, underlined word is a/an.
(a) noun (b)adjective (c)verb
Choose a correct preposition. ) 11 T — table®
(a)a (b)an (c)on
Choose a correct preposition ,she is suffering-------------- fever".
(a) from (b)of (c)due

(d)going

(d)wrote, wrote, written

(d) none of these

(d)6

(d)noun

(d)verb

(d)adverb

(d)me

(d)adverb

(d)adverb

(d)adverb

(d)of

(d)but

2 b 3550 0 ol 5
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Q#1: Translate the following paragraphs into Urdu. (Any 2) (10)

l. Major Tufail Muhammad was born on June 22nd, 1914 in Hoshiarpur. He got a commission in the 16th
Punjab Regiment in 194 3. He had a distinguished career and commanded many appointments. Major Tufail
Muhammad was posted to East Pakistan Rifles in 1958 as a company commander.

i. Print media has created awareness among people regarding their rights and duties. We can update
ourselves just by going through the morning newspaper, getting all kinds of news from all over the world.
Newspapers are the best way of educating people politically and socially. The public read about current
events, interpret them and learn to intelligently participate in the political, social and economic affairs of
the country.

Il. Hazrat Muhammad ﬁi’féﬂ said, "O' people! Fear Allah (d@),&[ﬁ“) concerning women. Verily you have taken
them on the security of Allah (d@).ﬁlﬁ“) and have made their persons lawful unto you by the Word of Allah
(dtﬁ;;lﬁ:’) It is incumbent upon them to honor their conjugal rights and not to commit acts of impropriety
which if they do, you have authority to chastise them, yet not severely. If your wives refrain from
impropriety and are faithful to you, clothe and feed them suitably." (Sahih Muslim 1/397)

Q#2: After reading the following paragraph, write answers to ten of the given questions. (any ten)
(20)

Zainab and Saliha are at home. They are happy as the festival of Eid-ul-Adha is approaching after a few days. They
ask different questions from their parents.
"What is Eid-ul-Adha?" asked Zainab. "Eid-ul-Adha is the festival of sacrifice. In a dream, Allah (d@a <)
commanded Hazrat Ibrahim (rJ}f" ~¥) to sacrifice his son named Hazrat Ismail ((Ur"' ~¥) Satan attempted to
confuse Hazrat Ibrahim (rtlr)lf:,“) and tempted him not to go through with the act, but Hazrat Ibrahim ((UJ',.;J&)
drove him away. .Allah (d@) ~l57) sent the angel Jibrail((l}f",}i) with a ram to sacrifice instead of his son. The
commemoration of Adha, which is an Arabic word for sacrifice, take place on the 10th of Zilhajj", mother said.

1.What is the name of this lesson?

2.Who was at home?

3.Who asked the question,”What is Eid?"

4.Why were Zainab and Saliha happy?

5.To whom did they ask their questions?

6.What is Eid-ul-Adha?

7.What was the name of the son of Ibrahim ((l}w",;l&)?

8.What did Hazrat Ibrahim ((’U/",}i) see in his dream?

9.Why was Hazratlbrahim ((’U/",}i) worried?

10.Whom did Allah send?

11.When is the memory of Sunnat Ibrahim (rlﬂ',’l&) celebrated?

12.”Adha" is a word of which language?

3 Q)M[%JS)HU)‘M‘%



Q# 3: Change the following sentences into negative /interrogative sentences.(any ten) (10)

1.We play cricket. (change into negative) 2.l amreading a book. (change into negative)
3.He takes tea. (change into negative) 4.1 am eating mangoes. (change into negative)
5.1 go for a walk daily. (change into negative) 6.1 wrote a letter. (change into negative)

7.You will be playing. (change into interrogative)

8.1 ate an apple in the morning. (change into interrogative)

9.He is reciting the Holy Quran. (change into interrogative)

10.1 shall drive the car.. (change into interrogative)

11.1 have done my work . (change into interrogative)

12.sun was shining. (change into interrogative)
Q#4: Write a ”Story’ OR ”Application“ on one of the given topics. (10)
Write a story on “Greed is curse. (OR)

Write an application to your Nazma”forurgentp/ece of work at home .

Q#5: Write an Essay on one of the given topics.(any one) (15)
a)My best teacher b)My school/Jamia C)My self
Q#6: Translate the following sentences into English. (Any 10) (10)
_c‘:,fgl:'»—/d-B ‘éc‘;/wac)}‘b‘é—ﬂ-Z _cé;b‘nC)lch/“"Zy/r‘-l
_4‘:.%5'/:0-6 ?uné@’;lguﬁfﬁ -cg.atg,vtg;umM
fe QUi L bulio By ZEITN G- L yo v Al
-%d/%J’J@L&U(ﬁlZ ?ﬂc‘:./(gf’-ll -c‘-&/udﬂ’/.‘u-lo
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Q#1: Choose the correct answer:

1-Meaning of ‘Mound’ is :

(a)a Small hill (b)a small hut (c)a small house
2-Meaningof s tgive’:
(a)Tasks (b)Fumes (c)Assign
3-Heis___ my Shoes:
(a)repair (b)repaired (c)repairs
4-Meaningof s ‘makes Unhappy’:
(a)upsets (b)harsh (c)fairer

5-My neighbor is kind (underline word is:)

(a)Adverb (b)Adjective (c)conjunction

6-Meaninh of ‘Abandoned’ is:

(a)Arrive (b)Left (c)Left forever
7-1am university Student.

(a)a (b)an (c)the
8-Meaningof _ isnot hurtin any way’

(a)Harmed (b)unharmed (c)peace

9-She did not went to the school. (correct the verb)

(a)Go (b)Gone (c)Going
10-:Meaning of is ‘unlucky’.

(a)Happy (b)joy (c)fresh
11-lgoto school daily. (underline word is:)

(a)Noun (b)pronoun (c)Adverb
12-She was sews the clothes. (correct the verb)

(a)Sew (b)Sewed (c)sewing
13-She worked hardly. (underline word is)

(a)Adverb (b)Adjective (c)verb

(d)a small ground

(d)hanked

(d)repairing

(d)backbite

(d)pronoun

(d)Claim

(d)from

(d)fear

(d)Goes

(d)hapless

(d)Adjective

(d)Sewn

(d)conjunction

1 b 3550 0 ol 5



14-Meaning of ‘Significant’ is:

(a)Important (b)Meaningless (c)Unimportant

15-1 am from Karachi. (underline word is)

(a)Article (b)preposition (c)Conjunction
16-He had his work.
(a)Do (b)Did (c)Done

17-Meaning of ‘fractured’ is:

(a)Broken a Bone (b)Broken a hand (c)Broken a Finger
18-Zaid will Speak __ truth:

(a)a (b)an (c)the
19-Meaning of ‘Collaped’ is:

(a)Rise (b)Succed (c)Down

20-Aslam and Asad attended the Class(underline word is)

(a)Preposition (b)Interjection (c)Conjunction

21-Meaning of ‘Expenses is:
(a)Spent (b)Money (c)Spent Money
22-Well,l never forget(underline word is)
(a)Conjunction

(b)Interjection (c)Preposition

23-A___ isawordused as the name of a person, Place on thing etc.
(a)Noun (b)Pronoun (c)Adjective
24-1willbe  atnight.
(a)Sleep (b)Slept (c)Sleeped

25- My Jamia-Tul-Madina is Beautiful (underline word is)

(a)Conjunction (b)Interjection (c)adjective

(d)Normal

(d)Interjection

(d)Donig

(d)Broken a teeth

(d)in

(d)Fell down

(d)Adverb

(d)Saved Money

(d)Adverb

(d)Adverb

(d)Sleeping

(d)Adverb

2 b 3550 0 ol 5
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Q#1: Translate into Urdu. (Any two) (5x2=10)

1-Pakistan is a land that is home to one of the greatest civilization in the world, The Indus Valley civilization.
However, traces of other civilization that existed before that can also be seen: OR

2-0n Saturday, a Zoo keeper Suffered Critical Injuries as a Lion attacked him at the Bahawalpur Zoo. According to
People as soon as the Lions attendant Fayyaz, entered the cage The big cat pounced an him and injured him. OR
3-Basit was a kind and helpful boy by Nature ,His parents had Always taught him to be a kind, Sympathetic helpful
and sincere person .He behaved very nicely with all his friend.

Q#2:Answer any 10 of the following questions. (2x10=20)
1-Did Ali enjoy his Social Studies class?why? 2- Name the three buildings found in Bhambore?
3- Was Mohen-Jo-daro a nicely planned city?How do we know 4- Why do you think the lion attacked fayyaz?
5-How did the people know that the children were in trouble? 6- Who organized the walk and why?

7-Why did the fire spread quickly? 8- To which hospital was jawad’s father taken?
9-How many money could they spend on food? 10-How did the Guests feel about the arrangement?
11- What did ali and his group members do to fight against pollution?

12- Did people working at the gas station help people? Why Not?

Q# 3:Change the Sentence into negative and Interrogative. (Any ten) (10x1=10)
1-He plays football. (change into Negative)
2-She is cooking food. (Change into Interrogative)
3-1 have been travelling since 9 o’clock. (change into Negative)
4-She will go to Madina. (Change into Interrogative)
5- Sara will be washing the clothes. (change into Negative)
6-Ahmad was performing namaz. (Change into Interrogative)
7-They will pass the test. (Change into Interrogative)
8-My father is selling his house. (change into Negative)
9-She took admission in college. (change into Negative)
10-She had been writing a story for two hours. (Change into Interrogative)
11-Amina was taking tea. (change into Negative)
12-He will be eating an apple. (Change into Interrogative)
Q#4:Write a story on moral “Greed is curse™ OR Write an application for the grant of fee concession. (10)
Q#5: Write an essay on any 1 topic. (15)
*My Best teacher ® My Father ® My school/ Jamia
Q#6: Translate into English. (Any10) . (10)
‘-’U;E,/Jf/ u’fz/gi’gﬁ ‘%L{@LF/—Z _é+u’f/g-l
< u?/)/;«n}/"&/u 170}-6 < l:'/"j;'/: 'L;-S -< O"/Jb 2l-4
_un@/f;gﬁfcg/g Ja-9 _uﬁ(fuuu—B _guﬁ//lbf'”/b? o7

e LiEeli12 el Fal S U B L F10
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Q# 1:The set of rational number is represented by: -t g/;wf.bgf_mu}%
(a)W (b)Q (N (d)Q

Q#2:The setis writtenin............ brackets. -< l:'laloé)ufgfbé/ ------- f."tw
(@)() (b){} (o)l ()}

Q#3:Towrite an empty set we use............... symbol: Vc‘:_&}fdl.’:‘"&fl}&““gé_]//"w}/%v‘dl}
(a)C (b)U (©N (d)@

Q#4:-The symbol of ratio is: _cgrwﬂﬁgo{j
(a): (b)+ (c):: (d)/

Q#5:-Selling price is written as : -%@Loéjgﬁug?/&éﬁ/’og
(a)S.P (b)C.P (c)P.C (d)P.S

Q#6:- The rate of zakat is : -4‘-0/:'6’5}//'
(a)£0.5 (b)/£ 1.5 (c)£2.5 (d)#£3.5

Q#7:The ratio of USHR is......... when the land is Irrigated by natural sources :

e UG8 i § b S e B3 5=

(a)5% (b)10% (c)15% (d)20%

Q#8:The price at which an item is bought is called : _uszi/clLlpd{]/“Zé;{/“agJ}
(a)sell price (b)Cost price (c)profit (d)lose
oo fed sFed i ol

Q#9:V25 =....2 £en=A25
(a)2 (b)4 (c)5 (d)6

Q#10: The ratio of 2years and 6 months : ‘q_;«f’.ufob{mdw;
(a)l:4 (b)2:6 (c)4:1 (d)1:3

Q#11: The tax imposed on the income of an individual is called : -c,t’MJ?d)Q%UDi/?L.}»”JJ;“Lf{(f(
(a)GSTéu?JJLf. (b)VATé:.'d} (c)Income taxug(f’ (d)property taxugé{,l/?

Q#12:[] +2=6 ]+ 2=6

1] ol 85015



(a)4 (b)2

Q#13 :How many types of polynomials are there?

(a)2 (b)3

Q#14:What is a variable in thisequation: ax + b =0

(a) a (b) X
Q#15:a% - b?% =... ?
(a) (a+b) (a+b) (b) (a-b) (a-b)
Q#16: Set of integers will be start with......... :
(a0 (b)£1
5
Q#17: Additive inverse ofg -
_s S
(a) - (b) p
Q#18: pxr
qxs
(a)2 (b) =
q s

Q#19:Least Common multiple is represented by :

(a)H.C.F (b)L.C.M

Q#20: { } Is cCalled.....brackets.

(a)small(}}‘i’f (b)square(ﬁ/

(c)3 (d)5

e S8LE

(c)4 (d)5
e UF 32 ey
(b )0

(c) (a+b) (a-b)  (a) (a-b)?
_gné)/:'cﬂﬁ' ____ .:,:wK;lﬁléj

()2 (d)x3
5
-gﬂu}g"g P
5 a8
(c) p ( )5
(0= (d) =
qs pr
N e—— 5 s
(c)S.P (d)C.P
P NE S P 5{}
(c)curlyAsd_14) (d)barefU

2 b 3550 0 ol 5
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(Short QUEeStIoNS) i | gu e
(10X5=50)_ut £ 05 & Jly st Fhtir10f ;29
Q# 1:Put the sign (>, <,=) between the following rational numbers. -uj/éu:"’wuyux,>,=).f.;wu"*'céé,;

7 -7
(1) — O—
3 e 10 10
Q#2:Add:— and — JIE
5 7
Q#3:Solve: - + — uFSf
-7
Q#4:Find the additive inverse. Iy _u:f(}'”u'ﬁé‘d"
Q#5:Write the set of natural numbers : _uf‘g:afbw'd/ﬁ
Q#6:Write in tabular form: B=Set of the days of a week B=¢tw£,u),u:‘“&hufiu:‘f6(f}(u
Q#7:Find the union: A={1,4,7,10,13},B={2,3,5,8,9} Sy fpke oty

Q#8:Define of set:

e
_uf’gui’f’“q}uv

Q#9:Write in simplest form: 15:75
Q# 10:Define proportion: -qfuy/"lei
Q#11:Find the value of variable: 7:6::x:50 -qf()’”_wfgf/:’"
Q# 12:Define tax: < 3
Q# 13:Find the square: 66 _u:f()l"”d/
Q#14:Solve: (7x2)(2x°y® JrS
Q#15:Simplyfy :(2x + y) * S5
(Long Questions) | gus Ju ok

(3x10=30)_ut £ 10LJly - b Fotiy 03 ;09
Q#1:Add the following - 4x?% — 8x + 2, ,6x% —5x + 4 JIC
Q# 2 :Find the square root by prime % u:f()“” &/’;7.&.{_/52—6;;/“
factorization :-
Q#3:Verify:- _?3+ g = §+(_?3 ,u:]/_"«:b‘
Q#4:Simplify: 70 = [10 + 20 — 2{8 — 2 + 3}] U5
Q#5:Find (AUB)" = A“NBCif : Ay S

U={1,2,3,4,5 . 20} A={1,7,9}

B={2,4,7,9,12,15}

3 Q)M[%JS)HU)‘M‘%
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Q#1:What is the Symbol of union. -c;,g.wuoéufg
(a)u (b)n (c)# (a){}
Q#2:Thereare____ different ways to express a set. - 2‘{{_) —————— L/Q)”'Luff
(a)2 (b)3 (c)4 (d)5

Q#3:ifp={1,2,3}andQ={2,3,4}thenPnQ is:

(a){1,2,3} (b){1,3} (c){2,3}
Q#4:If A={l,m,n}and B={l,m,n,0}then A-B is:
(a){} (b){o} (c){n}
a c
Q#5:()x( =)=
s b) == (€)=
(a) bd ( ac ¢ b
2
Q#6:The additive inverse ofg is:
=2 o) 2 1
(a) 3 ( )2 (c) 3
Q#7:The Multiplicative Inverse of _?4 is:
4 o7 =7
(a) = ( )4 (c) "
1 1
Q#8: 5 + E =__ 7
(a) 3 ( 6 5

Q#9:The Comparison of two similar quantities is called

(a)Ratio (b)proportion

Q#10:The equality of tworatio is Called___?

(a) Ratio (b) proportion
e b

(c)Direct proportion

Y u,wl';

(c) Direct proportion

ey wU:

_E¥PNQY» Q=1{2,3,4} 41 p={1,2,3} 5
(d){1,2}

65 A-Bst B={I,m,n,0}.5 A= {I,m,n}f

(d){m}
0
( )d
Knu’ﬁ’d‘?%
L
( )7
g
0t
( )7
.
( )6

c‘,l:'l}n’/.‘/ﬂ}” KU U2 ug})
(d) Inverse proportion
T
Ut i““f S /.'/.G/ u;‘:j P

(d) Direct proportion

el b;wl’:
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Q#11:Property tax is a fee Charged by a on a persons Income

e g S JuEPE S

(a)Government (b)Bank
e &
Q# 12:Rate of Gst in Pakistanis__ ?
(a)14% (b)15%
Q#13:ZakatRateis___ 7
(a)0.5% (b)1.5%
Q#14:In"3x”___ isCo-efficient:
(a)3 (b) X

Q#15:2X isthe example of

(a)Monomials (b)Binomials

$ P 6nk 12 Sums
Q#16: 5a+8a=__ 7

(a)5a (b)8a

Q#17:x%-x=7
(a) X (b) (x-1)
Q#18:2X =10

(a)2 (b)4

Q#19:Sum of three angles of a triangle is ?

(a)130° (b) 140°

Q#20:A Parallelogram with each of its angle 90° i

(a)Ret angle (b)Triangle

o
o [
oo &

(c)School (d)Hospital
J# Joe
e AW UG
(c)16% (d)17%
e U P03
(c)2.5% (d)3.5%
(o) et P15 U 3x
(c)3Xx (d) %
_cf,dtﬁfd/ _____ 2X
(c)Trinomials (d)None of these
& G F ety
(c)13a (d)-13a
(c)x? (d) x -x?
(c)5 (d)6
e b o KU UsE L ke [
(c) 160° (d) 180°
,‘481&&6;»9&M/;JJ?CMU!U’JIP‘..Q
(c)Circle (d)None of these
015 JTSF e
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(Short QUEStIONS) i | guw e
(10X5=50)_t £ 05L Uiy - st? Fhtir10f ;29

Q# 1:write the set in descriptive form :E{2,4,6,8,} E{2,4,6,8,}‘u.‘f’i:—21.)::y9/¢«;f
Q#2:Find the Union If RSS2 IO
A={2,4,6,8,10},{0,1,2,3,4,5,6,7,8,9,10} A={2,4,6,8,10},{0,1,2,3,4,5,6,7,8,9,10}
-2 7 -2 7 o
Q#3:Simplify: — + = =4+l gl
7 6 7 6.
Q#4:Separate the terminating and non terminating decimal -QIJVW,/M/’(‘;/{M("
12 (2) 155 1) 3 (2) 755
Q#5:Convert the following decimal into rational Number 7.75. 7. 75-%’)/‘):/? ufu,/,/&fyus,yﬂ
) km km .
Q#6:Convert intom/s: SOT SOT_u:]/J“A{ Jam/s
Q# 7 :Define Proportion: -uf‘g.»yfd/wl?
Q#8:Write the profit formula: -uf‘gur/wdb»
Q#9:Find " X IfX :2::5:6 ‘u:f"}‘”u x"Ivx :2::5:6)/'
Q#10:Define Tax: _uf‘g._g/."éjg
Q#11:Define Ratio. _u?.‘”g..—g’/‘."(far’
Q#12:Add 9ab— 7ab 7 9ab— 7ab:
Q#13:Find the Product: 10a?,2a° 1005205 7 8 2 S0
Q# 14:Define a Circle: -uf‘iuy/"&./u
Q#15:Factorize: 542 X -15a 5a5 X -15a-(/f §7%

(Long Questions)ei| gus Jui ol
(3x10=30)_t £ 10LJly b Fbotiy03f ;09

Q#1:Solve the equation:5+3(X-1)=5X-6

Q#2:verify: (X-3)( X+4)= X% +X -12
Q# 3:The cost of Mobile is Rs 4850. Find the Gts at the L/»!du?/,w:,c/“éx 179%»4‘850:/@JJ’§/V9
rate of 17%:- -u"‘fpl’”

Q#4:A person holds an amount of Rs 500,000 for the whole year.Is he Sahib-e-Nisab?
If yes,the amount of zakat he has to pay

I p 8 S e Fite U et F S 500.000u byt 21U
Q#5:IfA={-1,-2,-3},B={-1,-4,-5,-6}and c={0,-1,-2,-3,-4 }then find and verify: (Auc)uB=(Cub)Ua

(Auc)uB=(Cub)Ua 5/ F =695 A={-1,-2,-3} ,B={-1,-4,-5,-6 }and c={0,-1,-2,-3,-4} f

3 Q)M[%JS)HU)‘M‘%
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1:The innermost layer of cortex in the root :

' Epidermis (b)endodermis
J S J sl
2:0xgen and-———-——--- are the product of photosynthesis:
(a)Water (b)Carbon dioxide
dk X Mélﬁ'ui/g

3.Water and dissolved salts are conducts from roots to leaves by:

' Root hair (b)Xylem

T ~/U
4. The loss of water from aerial parts of plants :

' Respirationgﬁ'/’g/ (b)photosynthesis

PR

5. The force between the molecules of water :

' Adhesive force /- /’;:’:‘fgl ) Cohesive force

U
6.Rate of transpiration decrease with the increase of :
' Humidity in air (b)light intensity
d; Sl .:uj"d/ d.: Y
7.Chorophyll is present in:
' Upper epidermis ‘/ﬁg,g@ug ) Mesophyll cell

}5 J" s
8. Mineral required in formation of chlorophyll:
' Todine ¢3¢ T ) Tron T
9.The product of respiration are carbon dioxide and:
(a)water (boxygen
3 G
10. What is required for photosynthesis in addition to light?

Carbon dioxide and water
dk/;l)&’bﬂdb”dﬁ/g

11:Trachea divide into two:

(b)Oxygen and water

St T

(adbronchiadg s (b) Veins =

12Right atrium receive :

!‘L&ﬁj&ullch/ﬁ//uf?vg
(c)pericyclic (d)cambium

Lz o

(¢) glucose (d)Cholrophyll
);K J"urg
t’lg&ff4/51——-—ju;{-/5'u;?[o.lfc;uﬁwuﬁwluldg

“
(c)phloem (d)stomata
FE s
_LLL“U?’/L‘}!/(&;A/L’{.J:UWJ//ILu»g(&g
(c)evaporation (d)transpiration

gl S
IR R e LJEL Y
' repulsive force (d)magnetic force
JJ’;L}?'/ u’/};u‘:bb’i‘
N P S E IS0 S A (BT E
(c)wind speed (dtemperature
JG/J’}’E ;.ﬁ;
Lat‘njﬁy‘ds;ug

(c)lower epidermis (d) All options are incorrect

VA Uikl 2T el
‘LL“%JL{"U/" u'.‘.'Ll‘/.J‘;u;g
(c)phosphorus/z#-6 (d)magnesium fn/"{
CL'-JL; -------- /}li%bﬁ(jljufjgut&@)/’i.)l&uﬁgﬁﬁz
(c)Mitochondria (d) chloroplast
L KEF ut/l};/)}g

?‘Ldu/by/éé M@-ﬁwi)’}uwédﬁu
(c)water (dnitrogen and water
d& (}&/ﬁld? 15
_‘ad;’:(:ﬂ uﬁu/»uug{)’
(Dribsyiks

—e b U I

(o) Villids




(a)oxygenated blood (b) deoxygenated blood
JPAT UPAEETTS
13.The parts of the heart which receives blood from lungs:
(a)left atrium (b)right atrium
(AL (= UL
14.Exchange of gases take place in:
(a)lungs Jes ‘/.’.'f‘{ (b)bronchioles” ):g by

15.Aerobic respiration takes place in:

(a)mitochondrial DL (b)chloroplast.”/L};u,~g

16.The human circulatory system is consist of

(a)Heart (b)blood
J: Uf
17.Which blood vessels have valves in it?
(a)Capillaries, /H/ (bartery /T
18.Which artery supply to the heart ?
(a)Pulmonary (b)Coronary artery
Sk SIS0

19.The concentration water in plasma is

' 55% (b)45%
20.The average life span of RBCis :
(2)110 days (b) 115days
21.The outer come layer of aroot is called ~————-————
' Epidermis U7 /35! ) Endodermis /s
22.The flat green part of leaf’is called :

" Blade ) Lamina

Ja L,./J
.

e * .
"

23.The middle strong vein in leaf'is called :

' Blade /;;J, ) Petiole J}f’é
24 Blue and —————-- light is absorbed by chlorophyll.
' Yellow Lk ) Red { ~

25.Without fibrinogen, plasma is called :

" Blood ) Serum

s (i

(c) both type of blood (d) no blood
P AU Ui &S
_‘LVM‘LV/JIU/U;LL&LTLUJK{{KWUKJ}
(c)left ventricle (dright ventricle
K Faaol HFaan
-+tﬁJJVKUrf
(c)alveoli u’ﬁJU}J},L,l (d) blood U~ w#
Lat“ndj O I
(c)nucleus JZ'K}:' (d)blood Vesselsuy’bp{uf
b8 Q0
(c)blood vessels (dAll of these
utdus U
Ul L htudi§ursof
(c)arteriole Jy/.,7 (d) vein ¢/
eSS iy 15 wf
(c)Aorta (d) none of these
Coalel Jf(é/cuﬁui
< b $QLusig
(c)927 (d)957

_‘LV%:J’/}}L/JIKJI]J}‘{&/LUY'

(c) 118 days (d) 120 days

e QW e S
(c)cortex &’/ e (d)XylemH': 1

_‘at‘lk(.ﬁguég/;:gﬁ;_
} None of these
ATy
bbb LUl
(d) none of these J:’/Luﬁ'ut
4
ct‘.t'/u,w[(j;u ———————— /51(}5()55/}}{

' Both a&b
ui»@;ng;

(c)midrib 4

(c)orange &l (d)White 4~
§-L”Llr(l-il£/:53£d? £ A6
7
' Hemoglobin u.;b/}ﬁf ) None of these

AT PAYE]

2 b G553 o, ol
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i. What is the primary root?

ii. Write word equation respiration?

iii. State the function of root cap ?

iv. Differentiate b/w oxygen and carbon dioxide?
v. Difference between Aerobic and anaerobic respiration?
vi. Write the name different blood cells?

vii. Define the Rusting?

viii. Define chemical changes?

ix. Define the Contact force?

X. what is repiration?

xi. Define the gravitational force?

Xii. What is force?

Xiii. What will be season in Australia when there is summer in Pakistan?

-+3nt{¢,/d/n4

ol en FEHAL
G

- tZ/(J/'uUfmJ'iwmdff{T
- ke 0/&&"%/@4@1;!,@4
BT AL
e L
Zfldedd

E U
~<5—l{rf¢/g1

ST AFF S

- U

WL ST f e S

xiv. An athlete can jump5meter up on the Earth, how high he can jump on the Moon?

e a1k o S8k s ot i ]

xv. Which of Sun Moon has greater pull on the ocean water? Give reason of your answer?

G uf.._«'}?'%'?gng‘f/)%;gj{,&gLzﬂcuf}&/)'@/f

(Long Questions) | gu Juoda

(3x10=30)_t £ 10LJly p-c i Pty 03F 29

1.Describe the factors affecting the rate of transpiration?

2 .How does Human Heart work?

3. Describe uses of material with to their chemical properties?

4 .What is the tides? Explain briefly.

5.What are physical changes? Explain with Example

tyF e §JNF Lnd S S A

fe b‘f”b/gd)&l,—’"

0 S U W e L9 Lo dLESunste

¢ F e ke
S ol Ut Uk 6
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1.Which is Secreted by the liver and stored in the gallbladder?

pancreaticjuiceu’/K#(;) biIeJ/L:(@)
2.Which Structure prevents the food from entering the
larynx during Swallowing?

TonguegLJ(s) epiglottisu’}g@(@)

3.The interaction of living organisms with each other and with their

environment is:

Gastric Juiceu’ﬁJﬁf(g)

Esophagusdté'ﬁ (<)

Se S e LS E L U
SalivaS¥ ()
KPS S G e § oF L8 2 F i
NP
pharynngf/:"(..ﬁ')
ij Ldib.%—’/)’&/})wggU)/u:l?:3/J’f
_+VM

Food chain/..j:/'(j’,@(;) Habitatu’o(&/) Ecosystemfb‘/,é'(g) Ecologygf.)@'(..ﬁ')
4.The food chain always starts from ‘g—gnaﬁ/‘.ﬁﬁi’]é'ﬁ:@:} Jlr‘

au&xf&{(;) R (3) e e IE(<) .».J/uéﬂ,&.l(,al!)

Decomposer Producer Secondary consumer Primary consumer

5.Area below ice cap have very cold climate.
Tundral/ (») Grass |andUU:-’KJLZ(@)
6.Change in Matter are of __ types.
P 5 Ui
7 .What is produced when Fuel is burned?

S8 e i) AE T

None of these oxygen gas

(@)

8.0il canchange into fatby .
UGS e U I0) TR
None of these Hydrogenation
9.Fertilizers are used to fulfill the_ requirements
of plants
T 5 Ui

None of these

U@
Respiratory

10.The rate of flow of charge at certain point is called

&)

Voltage

S e )
None of these
11.The Circuit that provides only one path for the currentis called
TS5 = U ui0) UIn)
None of these Both

12.Where chemical digestion of proteins start?

b
Small Intestine=” 1352 (3)

Stomachs+* (%) Esophagusdtd'ﬁ(g)

e bl ey Ul 36 LUk 5§ Sis A
Desertulﬁf/(bj) Forestalﬁ{/?,(bﬂ')
_ug’&yz J(:’____ug’.idbé_ﬂ o esla: 6/’,’; Jlr‘
L’/f(bj) 25(H)
i e G Fe e i1 A U
A o) oS T3B M)
Methane gas Carbon Dioxide

Y-S - T SRRy -JU UYL VAT VY I

AW A FS

Fertilization Evaporation
LISyt fo$esy W S0 2
ik

I iz (e

Reproductive Nutritional

Jfl{i@/.lgjr&?upr‘;d) uf&{/i—&:lO/j}JV

Dy valky
oS () 27 ()
Circuit Current

e tF bl Lo Fus, 1 i
M A (o) S5 ()

Serics Circuit Parallel circuit
vgrbﬁC;;cuLf(W'dnyd:)gE&? 124 J'r‘
Mouth ()




13.Absorption occursin

b S 13 i

! () =6 2(=) =134 ()
Stomach Mouth Large intestine Small intestine
14.Fats are not digested in___ and Stomach. -Z—ff uﬁ;(}/‘/lliz.—wm-“-a&zu: 14/,‘; J'r
=T 0) ) (o) =TS
Small intestine Mouth Liver Large intestine
15.Pollution causes ______ disorders. -uj‘[}'n ULk JL?J.---L.?; deu’l’: 1 5/1} Jlr“
H I = o) YA (o) U ()
None of These Excration Digestion Respiratory
16.Thereare types of environment. _uj’Ln L(L:"L_-_Jiln: 1 6/',} J'r
&L0) A (@) (<) a3()
17.A/an ------ is an.ecological area in which species of ﬁgu»{/ﬂu}lg ufJ>‘L 311989}7!‘ L;jl____:17/:’;dlr

animals plants and all types of organisms luic.

I = ) EAe)
None of These Ecology

18.According to physical characteristics ,There are two types of .

I = o) ES)
None of These Ecology

19. Water contain very low amount of salt.

U85 = IR L b @)
None of these Estuarine water Habitat

20.Tarnsfer of energy by eating is Called .

Habitat/;{/'&uc’(;) Habitatu’p(@)
21.  Change is a change in physical appearance or
state of a substance? .
PS5 e Ui du3@)
22 .Meltingof waxis _ changes.
T 5 Ui &3
None of these Natural
23.Thereare _ types of electric circuit.
5(2) 4(%)
24 .Human body comprises  percent of water.
80(») 75(%)

25 .Electric current is measured in
U85 UL i)

None of these

_'»1f}g(6)

Kilogram

Y -BY) F Ry FIICEIN L]
A EIo) 1
Ecosystem Habitat
_UJ(L»’“UJJ__--{,)L}.JJU&J% : 18/',} J’r‘
A EIo) ()
Ecosystem Habitat
e P el Q19 A Ui
LS oL st (i)
Marine Wr;nter Habitat Freshwatér Habitat
_g,t'M____JJl?gétl;Zi_JSLLLB/: 20/,‘; Jiv
Ecosystem(é‘/ﬁé'(g) Ecology&)@(..ﬂ')
_%&g____&gam,fdlwgfiu” 2 l/f}J'r‘

defio G ()

< &,4{"-__-%5(/ :2 2/’,‘; Jir

defio G ()

Chemical Physical
_ugru"l(’f!“-_d/&’//d“/.ibt)d'r

3(<) 7 2()
_%em}“f"”/,&g»é----gﬁ/'&u':24/:)J'r

70(=) 60(-)

el Pt das AU

& (<) )
Kelvin Ampere
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1.What is Mechanical digestion? "c‘—lg//g = 1/,2 Jis
2.What are the respiratory diseases caused by pollution? ujd’uiufu&&.»cﬂ}/u}; — > Jju’rz 2/1} Jlr‘
3.What is the function of small intestine during digestion 0l 2% l{u'/» L:igfgcf l’é}‘?f: 3/'," Jlr
4 .Define breathing process. _waU)JfL$JV:4/t}J1f
5.ldentify the common respiratory disorders. _u:)/:»l,: Ju:;'/JJJ ,'Uv : 5/,} Jls
6.What is habitat e 6 U
7 .Define community and population. -é.g}&f;fmd;g T. 7/',}Jlf
08.Who people change habitat? qrb‘fd,?(//gffd(/uw: S/Jir‘
09.What are Chemical and physical change? ?uzid/ug.i&lg{u'dfbﬂ/dv
10.Describe the common properties of fertilizers? u//ug :«.l:u“}”la J//'/L&"/’: 10/',} Jlf
11.Describe the simple process of making plastic? °éugi&) u)b«LLl‘m.@l};: 1 1/',‘; Jl/
12 .Identify the types of change _4‘,&,«{“ Jfgd/géwl} 12/,‘;Jlr‘
(a)Mixing things together(b)Dissolring a solid(sugar) in water Lnfufd& 5(J})}ﬁ(g)k;uﬁ'vwg{;?lu(-ﬂl)
13.What is the electric current. - Ljud/.: 1 3/',‘; Jl/
14.What causes the current to flow in an electrical circuit? ‘-’c‘, t‘}fcg)gf/il.z{g:}fuf.iﬁ//ipg: 14/,‘;Jlr’
15.What is the main difference between a series circuit and a ?%J/Juf&’//dﬂ?‘u'ﬂ)}t: 15/,‘;Jlr‘

parallel circuit?

(Long Questions) | gu Jusda
(3x10=30)-yt £ 10 LUl p-o & S bty 03 12

1.What preventive measures should be taken to avoid chﬁ/iiﬂfau;ﬁ]’dbé_n'% u’fu}/ Jf: 1/’," Jlr‘
respiratory disorders? ?u,?i?df/,@’/}’;()bg"”

2 .How living organisms adapt in changing environment? 91 L)/Lg,c@lb/ vt uf/lllgc;dibé_n'&mj:i 2 4 v
3.Name different types of habitat and write their distinct features. -u:]/zj w#”wg@uw’% L’%(L‘LJOL(L»’“’JL?: 34 Jir‘
4 .Explain a food chain and a food web and given at least »»R/J'R/Jug/;u'u:fa?&}édtgd'ﬁ A'/gjdui%/f/dir‘

two examples of each. ,q,u{ef
5.Explain hazards of electricity. -’éwlﬁ:da%”ié{' : SA}JU’




81445/22024\adiol sVl

8 (0)

oS8 4(0)

o Wt 5 s I RS —6
(o\ow)ags 3 ur” Ul T, 24 Jyldawga: o @b}b
25. 4 F w3025 f oais  21-02-2024:0k  *awumdmsiono
e s T o 15 STy
(e it} | wad
(MCQ’s) | guut (gui bt & | g
(25X1=25)-¢- A 0161y - o Sty ol 105
PGS rees LA
________ LL‘/.&W/(V),;J&&’JJ..«@/!}’?-l
Susiioy  § s @) L Susd )
_________ uj/ué“/ff:’gﬁg?-z
Jen0) Seree) Jert (o) Sergi)
e My TS s gk -3
$870) Id oine) §F oo SJisi
‘42,»";0?112.@&/5-4
F.10980728(»)  #,19984711(¢) #.1998 Uz 28(—) #.1998(4 26(H)
w24 U
_______ u’fu;“;y:«/u -1
G I i) LiF S FeiF§io u’d{“&f'uw
____Kn,l»?wum/u‘/.wg -2
CEnTAL) b TAR)  ebUATAS) S ATA )
_chf,li.uu&%r::_.?,fu:‘wu -3
wE 2B 0) QAP0 e (o) g i)
_____ g,g)f&//)gb:%’;mf.@u’ -4
FHELUI0)  BPFELUIR) BEALUI) By Al Ui
-:3/1‘7 J’r‘
<2l -1
() k(&) L(<) b
- ol -2
A0 i) b(<) L ()
-c‘,ﬁﬂljg -3
WL (2) Jh() b(—) s ()
-~ 2yl -4
Fo 62) (o) ()

S e -5
& ()
:4/,‘/ J’r’

S ()

Q)WL}S)HL)‘)‘M‘%



i8)
30
G0
djéf())

=4 (5)

T35 )

UL-10)
50
Ae(5)

AN)

o6

U2 (0)

(8
()
Jl@)
)
ra(d)

SR

SF @)
Y2
=l ()
— /()
=Bl (8)

=)

(o)
ﬁg(g)
= (<)

JUIo)

Fio)
Hol(—)

G ar(e)
()
27 s T(o)

el(—)

_4‘,:)5 -1
i)
_4‘,5"’ -2
A
-c.:.g&?d/bb -3
Sala(3)
<GS -
8=
_4‘,{{»')6&9}?} -5
.?)(J')
~§—<‘5’L§J~} -6
S ()
-:5/:)'/
_cb—gd)l/"‘gdzg’" -1
55
il el 2
0 As()
—Czrgh—}}’/“‘g:djbﬂ -3
u’ (<
6l -
S
el o5
&
-4‘,)&7’5&/& -6
|2 A

B PRSI 8



:/,’;Ju

21445/62024\adiol asVlan

c)u({ 5,5 01 N/
(Olow )i S U UsT. 24 JyMlasga: 225 %

Gage  TSAS 30820500 ok 21-02-2024:5.6  Kwaswowsson
el i | s
_éG}J/W' - 1/',’; J’r‘
5x1=5 Sz s
Lf'/ﬁ%@d‘gu;fu?'fbhéjf:}j"-:J’ -1
"o Lee | KB Uk 2
lpﬁud/vc‘:._',%f_d%"-;_f
AT SIS TN
R PASEFS s f a2
PEYIRTATSNEAIT
c(t;jc‘;ui’”ufjﬂb},
K I Ul
2x5=10 _q;aglziawrﬁ"}égcéi -:2/.2 Jlr
%t S ngiwdw&uf{ T -1
?Knﬁ“vég{zmuuungwiug -2
S’pjru;{J}JuﬁJ@KGng'%lLuwﬁu -3
o SIS OF =t b LBt I -a
?‘LCJ;.%JLJ}'J/(}D}:J?/{(}&; -5
?L,‘fKLf/L;wdugc)ijiuf)i(",,“b&u}‘?,f’;&ww 6
te e $ad M i A Ut 7
10x1=10 el Fhu e 35 34 U
=lle-6 = A5 Sss9-4 il -3 pir -2 FT1
(E-12 A-11 cxlLiLds-10 (“-9 fj-s Ci-7
Ix1=7 qf/“fvgéfcu:’w!};;gb 4y
Ao Fen e N Les Suis e Lt
&/'?;)Jd/kﬁ-:&/lfn
(10) Qf/j..géf:,uf,)&g&bf -:5/,} Jis
£GP b) UM SI U £ stz s S O3S sE Ay
10x1=10 UEF o e 8 6 U

Q)ML}S),-}L)‘)‘M‘%



4,}562,(“-3 utzfgyf’;!/-z u’/&.gd/:};-l

Ix1=7 ﬂéd’;vd&iau‘f&@ﬂui& 74 Dy
g hie a5 Jegdos F8ma
A B Jegdw 8L F1-3
Jer o J3G e g 8 A
sk S f e L8 1s JF L3 A
P f a8 Ai S 10 ‘e, B 4t o
6x1=6 9.,}b'd’wwrga_$i‘;u:‘d“3@» -:8/ Jiv
27 e elens

Q3L cornsEms9-2 WAULE 1k 671

b¥ F il sgb-4 Fsdos§ Aok -3
g e UM F Jenie 2

LErscst -6 @u:/,;;‘d/d/fﬂ-s
n/..fl:;‘n/.«@-S c)ﬂ/ufé—/ZyTJ

-:9/',} J’r’
’ézj G B0k 13 1l 5K (wwanzé)i SiF1adien
6+2+2=10 _%,Abﬂ,g(f{-;u
- (1)
Jugéu?ﬁw.ﬂwjﬂgn(j“rK,(Zf-upzruftfful‘m‘f'gfl_//;ui‘gf}:/‘hf—/w(v),“k&l&”éf&
s oS oS s F s 2 (B i P e ln Tk T 7 LS U Uit § sz
e Ui g OF LURI8 bt o Jerey 2okt § S Moty e e S s SI K8 Mo1s s S 65 s
:%E‘L‘/’;l}"ul,@u?}'
"q—uﬁ’&’wéfui”w"
(2)
SOl 25 poe urb e i S FEG IS et sf § odins s 1 E oo S
P st 325 U kg 1 Slosls 3 1206 2o S e s § Son Pl L byl & ol
& ;gté;u:"(%/,uga._fu!ziu_é@}iég ufui!ﬁ)‘%l:,_uafc)u‘!,:b&!

4 b 3550 0 ol 5



UL

81445/22024\adiol sVl

:/.'/J}/ Q)MQS)HU)‘M‘}.\( — (,
(n95w)igs )9\:0)‘” u‘;; T. 24 Jobdesga: >0 @g&b
25:/,} J( <30 :;))J{ PYHOR) 21-02-2024:611:‘ S
g ZU?’/(/ u’jﬁ’“: IUV“")//

e ety J §| e

(MCQ’S) it g g b & | g

(25X1=25)-¢- A 0161y - o Sty ol 105

< A43(3)

F(3)

U735 U 0)

U735 U 0)

()

JIzL()

S350

L;v@é/;Lm(;)

L8710

ujéf())

o735 ()

€ (2)

_UZ;'/:,J/U';L'/:"J/,}JV

Ay () ZACY ;i}';}f(_ﬁ!)
el A Uiy

) LA () Fr( )
<G8 einz AU

) A o) L&D
ce A Fleenndiria L

JE@) Ji<) Jiah)
e Bl a5 2 iy

462 JEW (o) SIAI)
Bl E veied

IR (L) 2Z4(—) Iz s ()

-c‘:.,lf.:wuﬂ/f;dlr‘

WS 26 £ NI 26 p Uil BT 1 Bl

e AL 10
FEECIISEZY ()
PE ()

(&)

()

Loy (o)

ﬂf‘"(V)

_égﬁjtﬁgﬁ sy 8/',2 Jlr‘

Wee gl U 2l us()

S Ibo A Ui

LendH)

e APl 110 4 Uiy
PEBI()

e B a1 e

¢ (<) Eess ()
_‘LﬁJJﬂ/"‘g"(:/&" :12/.24)1/
k() blg (<)

@W[é, 3»-.’ (G5 o L’J.(



JJ@(J)
af»’iuf())
e SAEISE 1)
AGs(s)
Jjéf(J)
Soif=0)
Ujéf(J)
()
c/”'u’(;)
Jrib(v)
Jjéf(:)
JEI0)

Uu?)t(})

JesI(2)
Jude
o SH ISR
24 (@)
AL (@)
5 re
=98
@
L)
S (%)
=Wz )
@)

)

(o)
= (=)

-%J%ﬁflﬁ/l'}'!(g)

GG S A e
J{L&(J')
_%m,wg-lszl-;14/dfr

o (S
_gdulﬂ(jéﬁ LY 15/f2J’}"
PSR I

_égﬁw)d/& ol 6/{‘; Jlr‘

()
SAF (o)
Eui()
J9(<)

Jbkr (=)

U ()
_%&?J/Ly{: 17/,‘1)’}"
Ut ()

Lyl U
5

R OF LYy I
i

_%&?Jua:: 20/,2 Jis

G/u(..ﬁ«")

_%HJ)F/“‘ b’"c)l.f,g" 2 1/',2 Jlr’

o )

o 4

-:&Udiqé_dlf){é‘:—du/;i/d@&’:22/’,&)'}"

B =10
SR ()

d6u()

Jr s
e a3 4
Sz ()
-q,wwaZUu/;:24/Jlr

pﬁ’(_ﬁ')

-%tno;gjuf;fu'iuw/g/ﬁ: 25/Jlr

24 (<)

07 55 2 ()

Q)ML’, 3)3-.’ (G5 o ‘5&(



| 21445/22024glazel el
//J’J Q)MQSJHL}‘)\M‘}.\(

. ; Y

(m o) )9\: U AT 24 Jobdesga: >0 %&D

e TBAS 3082058 sxithy  21-02-2024:Fk  KwLwdkmssoND
el i | s

(Short QUEeStIoNS) i | gu yaie
(15x3=45)_t £ 03LJly pc s Py 15 129
(2+8=10) -’é/j&b»Lujfbmu!r"b’dﬁ”iugﬁlugojc;u:‘:,vgrius.?/p‘:01/,2le
‘c,‘_}"“/ 4u;j’l¢_/_%:3u“ug%ul:»gkuf Std d;gl’J ER PRy P ) WL gk
S eSO Ll Te A oo S 37 S8 L0155 2
e g A 5 e s Pk E T U Te G b TSt U K p -2
,u‘{ LL}U/A‘U'; Crw.»‘"u“;/t Z,w/u
(5) AJFCs wau’(ufzw'«i)ew-:ozn"dlr
e dndic e FUsiesE g
m%iﬁ‘c}f@«"ﬁ o F e G nfinE 2

(5x2=10) L unlerss” e S sism034 Dy
?u:‘?léf;gilduiuf/?(b.i&’_z *‘./,d)/,awuufcfuw Jdwav_1
S ool o i il e g 455 a S tor P G hes P o3
Ce b SIS LU ie e e 355
?!,2&4‘,¢;;Mf’_7
(10) (Jﬁf)-’édt»“wru:’u}?.h,{l/",gwug,?/w:04/&)1,/
Qe aFress Hs_a el 3 33022 el
Jll_12 Sl —1_10 Jizi_g o758 21 S 7
(7) Efenind Lot oo enind £ 3680 05 A v
" -é/f uw/u:/a RS A48 L .06~ Jir
(10) é/// Jkéaul”'é,(;iwb)uydd/muvuz. Wosla s
(10) -uf’aur‘”/,u'/ufu’(éufwe/ﬂ-:07/J’/
gl Jeis AR e e a2 5 ) 2o adhanlo 1
(6) (géi)-’édwu:‘u)"?'%!iuuvg’s,?/w-:os/dly
Sl es_d Gl a3 Gatl-2 b T-1
VIR (g4 s-7 SEVYR: :FaJ
(7) (.:,L/éi),’jzi/j“,ﬁ*lda@fgabwus,?/ﬂ,:og/dly
L1474 423 S 2 S
38 oF A8, 2 e 37 F1s
cb‘@i&ﬂz(lﬁld/{l,lo 79

3 Q)M[%JS)HU)‘M‘%



